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Corrected Yields -5/5<y<-4/5, 5m6<¢ <616 |
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1600
1

3
18000
17500}
17000

16500}
16000}
15500
15000}

14500

-1-08-06-04-02 0 02 04 06 08
cos(6*)

[Corrected Yields -4/5<y<-3/5, 5w6<g<6ms |

19g00F E
S
18000} E
17000F E
16000F E
15000F E
14000F c
13000F E
12000F E

11000 4

-1-08-06-04-02 0 0.2 0.4 06 08
cos(8*)

Corrected Yields 1/5<y<2/5, 5r6<¢ <616 ]

g
17300)
3
17000}
16500}
16000}

15500}

4-02 0 02 04 06 08
cos(8)

Corrected Yields -3/5<y<-2/5, 56<¢ <616 |

17800)
17000}
16500}
16000}
15500}
15000}
14500
14000}
13500}

1

~1-08-06-04-02 0 02 04 06 0.8
cos(6*)

Corrected Yields 2/5<y<3/5, 5/6<g<616 |

E
18900F E
B
17000)
16000)

15000}

14000}

13000f 4

-1-08-06-04-02 0 02 04 06 0.8
cos(6*)

[[Corrected Yields -2/5<y<-1/5, 5r6<g<6m6 |

]
3
17300}
17000)
16500)

16000}

14500}

-1-08-06-04-02 0

02 04 06 08
cos(68*)

[[Corrected vields 3/5<y<4/5, 5

i6<g <616 |

18800
17800
16000}
15000}
14000}
13000}
12000}
11000}
10000}

9000

-0.8-06-0.4-02 0

02 04 06 08
cos(6*)

Corrected Yields -1/5<y<0/5, 5/6<¢ <6106 ]

16800 E
17500}
17000}
16500}
16000}
15500}
15000}

14500F

140

-1-08-06-0.4-02 0 02 04 06 08
cos(6%)

Corrected Yields 4/5<y<5/5, 5m6<g <616 ]

=
30800 B
3
25000
20000 e
15000 B
10000} B

5000 E

~1-08-06-04-02 0 02 0.4 06 0.8
cos(6*)



[[corrected Yields -55<y=-4/5, 6r6<g<716 ]
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H
8
22000
20000
18000
16000

14000}

12000}

-1-08-06-04-02 0 02 0.4 06 0.8
cos(6*)



[Corrected vietas s=y=a75, Tom=y116 ]

cou

30000F 4

25000}

20000}

15000}

-1-08-06-04-02 0 0.2 0.4 0.6 0.8
cos(6*)

[ Corrected vietas 5=y <1s, ooy <iis ]

19800F ]
3
H
18000 -
17000
16000)

15000}

14000f, 3

-1-08-06-04-02 0 02 04 06 08
cos(6*)

[Corrected vietds <y=35, omegeiie |

18500)
H
18000
17500}
17000}
16500}
16000}
15500}
15000
14500}

14000}

-08-06-04-02 0 0.2 0.4 06 08

cos(8*)

[[Corrected viewds Vs=y=25, o1

£
18900}
17500}
17000}
16500}
16000}
15500}
15000}
14500}
14000}

-08-06-04-02 0 0.2 0.4 06 08

cos(8")

[Correstea vieas <y=25, tomo<g<iime ]

16500}

16000}

15500}

15000}

14500}

14000}

-1-08-06-04-02 0 02 0.4 0.6 08

cos(6*)

[ Corrected Vieas oy <3 tomeg-iime_]

17500)

3

8
17000)
16500)
16000)
15500)
15000)
14500
14000)

13500}

~08-06-04-02 0 02 04 06 0.8
cos(6*)

[[Corrected viewds 2owy=5, Towemge1ie |

17500

3

H
17000
16500
16000
15500
15000
14500

14000}

-1-08-06-04-02 0 0.2 0.4 0.6 0.8

cos(68*)

[ Corrected vietds s<y=ar, Toris=g=iiis ]

18300)

16000}

15000}

14000}

13000 4

-1-08-06-04-02 0 02 0.4 06 0.8

cos(6*)

[Corrected vieids To<y=0r, too==1ims_]

-1-08-06-0.4-02 0 02 04 06 08
cos(6%)

[ Corrected vietas a5<y<5, ooy iis ]

£
22800
20000}
18000}
16000}
14000}
12000}
10000}

8000)

6000 E

~1-08-06-04-02 0 02 0.4 06 0.8
cos(6*)



[Corrected vietas o=y=ar5, Tivo==1zve_]

cour

15000}

10000

5000

-5000F

-08-0.6-0.4-02 0 02 0.4 06 08
cos(6*)

[Coremn

o Vilas Oy 1, Ty <ize |

19900}
3
8
18000
17000F
16000

15000f

14000

13000k,

-1

-08-0.6-04-02 0 02 0.4 06 08
cos(6*)

[Corrected vieids <y=35, Twwemgeizris ]

20800)

S

3
19000}
18000}
17000}
16000
15000}
14000}
13000}

12000}

H

-1-08-06-04-02 0 0.2 0.4 06 08

cos(8*)

[

croa Viias Vo2, Ty <ize |

=
18800)

8
17500}
17000}
16500}
16000}
15500}
15000}
14500

14000}

4-02 0 02 0.4 06 08

cos(8")

[Correstea vieas ey=25, 1otz ]

17500F

3

8
17000}
16500}
16000}
15500
15000}
14500}

ik

14000}

-1-08-06-04-02 0 0.2 0.4 0.6 08

cos(6*)

[Comectea vieds 2oy <35, tiosg <tz

17800F 3
S

S
16500F E

16000}

15500}

15000}

14500}

14000}

13500}

-1-08-06-04-02 0 0.2 0.4 0.6 08

cos(6*)

[Corrected viewds 2owy=5, Tivoeg=1zms ]

18800
H
8
17500}
17000}

16500}

-1-08-06-04-02 0 0.2 04 06 0.8
cos(68*)

[ Correcten vieds Fey=ars, rwemgizris ]

£
16300)
15000
14000
13000

12000}

11000F E

=1-08-06-04-02 0 0.2 04 06 0.8
cos(6*)

[Corected vieids oey=0, Tiegezms_]

18800)

3

3
17800}
17000}
16500}
16000}
15500
15000}
14500)
14000}

13500}
-1-08-06-0.4-02 0 0.2 0.4 06 08
cos(6*)

[Corrected vieds 4=y-5, g izis ]

2
3

25800F E

20000)

15000

10000)

5000

-5000F ]
-1-08-06-04-02 0 0.2 0.4 06 0.8
cos(8)
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